Chesterfield Township School September 2021 HEALTH OFFICE REPORT

Date: October 1st, 2021

Health Office Visits:

Student Visits:	Category	Number
	First Aid	154
	Medications	46
	Medical	102
	Other	38
	Consult	0
	Health Screenings	2
	Health screenings for I&RS or CST	0
	Head lice checks	0
	DYFS	0
	Staff Visits	7
	Parent Communication	95
	Documentation of records	22

Communicable Diseases:	Disease	Number of cases
	Strep Throat	0
	Conjunctivitis	0
	Lice	0
	Flu	0
	Impetigo	0
	Ringworm	0
	Chicken Pox	0
	COVID 19 cases	0

Average Per Day: 27

Accident/ Incident Reports	5
Students on daily medication / treatment	5
Telephone Calls to parents for illness or injury at school	72
Attendance Meeting as Attendance Officer	0
Special Services – I&RS, IEP, 504 meetings attended by nurse	6
Telephone calls to Poison Control	0
Students Out of District	6
DYFS	0
Home Visits	0
Students on Homebound Instruction	1
COVID 19 Contact Tracing	0

- Ongoing data entry of kindergarten immunization and health records
- Ongoing data entry of 6th grade immunization and health records
- Prepared files for students transferring out of district
- Data entry of new student health information and review compliance with vaccination schedule

Total: 466

- preparing first aid bag for classroom teachers and lunch aides
- AED maintenance replaced batteries/pads/face shields
- Inservice with aids on expectations for student/staff daily arrival
- Initiated set up for staff flu vaccine
- 10 student withdrawal file preparation
- 5 new student files prepared
- Immunization compliance audit of all current students ongoing
- Preparing for October 15 DOH immunization audit
- Collection of proof of vaccination from all staff

School Nurse: Charmaine Ramos, MSEd, BSN, CSN, RN	Charmaine Ramos
Courtney Gauze, BSN, RN	Courtney Gauze

Emergency Drill Log for 2021-2022 School Year

Month	Date	Type of Drill
September	September 16, 2021	Fire Drill
•	September 24, 2021	Lockdown Drill
	September 28 & 29, 2021	Bus Evacuation Drill
October	October 8, 2021	Fire Drill
	October 15, 2021	Evacuation Drill
November		
December		
January		
February		
March		
April		
May		
June		
	1	

Facilities Report October 2021

- 1. **Fence Project** The fence installation around the playground was started and should be completed within a week.
- 2. **Parking Lot Repair** On Monday the parking lot repairs were started and will be finished this weekend when the school is closed.
- 3. Annual Facilities Checklist for Health and Safety Evaluation of School Buildings was completed. There were no findings during the review.

Andrew Polo Business Administrator October 20, 2021

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
15873	Closed Work Orders	9/1/2021 4:26:35	Robert Carter	- Cruit	30 Saddle Way
	Monthly - Fire Extiguishers - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Fire Exiguishers
	fire extinguishers were inspected by contracto B&C	CIOT			
15874	Closed Work Orders	9/1/2021 4:26:36	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/26/2012 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Fuel#1
	fuel level 609 gallons	Wedian			1 461// 1
15875	Closed Work Orders	0/00/0004	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/30/2012 - Refer to PM schedule details.		Pingitor, Larry		Solar 1
	solar readings august 578363	Wediani			Solari
15876	Closed Work Orders	9/1/2021 4:26:37	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012- Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Floor Scrubber #1
	floor scrubber 1 serviced	Wedian			Floor Scrubber #1
15877	Closed Work Orders	9/1/2021 4:26:37	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/28/2021 Medium	Pingitor, Larry		Floor Scrubber #2
	floor scrubber 2 was cleaned and ready for use no issues found	Modian			Piddi Scrubbei #2
15878	Closed Work Orders	9/1/2021 4:26:38	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/28/2021 Medium	Pingitor, Larry		Water Pick Up #1
	water pick up1 cleaned and ready for use.no issues found				Water Flore op #1
15879	Closed Work Orders	9/1/2021 4:26:38	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Carpet Machine #1
	carpet machine was serviced				our per muerime #1
15880	Closed Work Orders	9/1/2021 4:26:38	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Poetro e m Mashin s
	restroom machine was serviced	Wisdiani			Restroom Machine
15881	Closed Work Orders	9/1/2021 4:26:38	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Floor Machine #2
	Clark floor machine was serviced				

10/7/2021 8:50:22 AM Page 1 of 16

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15882	Closed Work Orders	9/1/2021 4:26:38	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Burnisher
	burnisher was serviced				Barriona
15883	Closed Work Orders	9/1/2021 4:26:39	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/29/2021 Pi Medium	Pingitor, Larry		Water Pick Up #2
	water pick up 2 cleaned and serviced				Water Flor op #2
15884	Closed Work Orders	9/1/2021 4:26:39	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012- Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Cornet Machine #0
	carpet machine 2 was cleaned and serviced	Westan			Carpet Machine #2
15885	Closed Work Orders	9/1/2021 4:26:39	Robert Carter		
	Yearly - PM Schedule created on 8/9/2012 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry	Pumps	Fire Pump#1
	fire pump 1 for sprinklers	Woodiani		r umps	riie rump#1
15886	Closed Work Orders	9/1/2021 4:26:40	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 8/10/2012 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry	Pumps	lockey Pump#
	jocky pump checked out ok	Wediani		r umps	Jockey Pump#1
15887	Closed Work Orders	9/1/2021 4:26:41	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details.	9/23/2021 Medium	Pingitor, Larry	Pest Control	IPM
	ipm bees found in foundation by playground. was treated 9/23/21	Woodian		restornio	IPW
15890	Closed Work Orders	9/1/2021	Nicole Dimaiuta		30 Saddle Way
	Please remove extra chairs in my room Time Available: A256	9/7/2021 Medium	Pingitor, Larry	General	A256
	removed chairs			Maintenance	
15891	Closed Work Orders	9/1/2021	Lauran Gleason	Classroom	30 Saddle Way
	Lashay Johnson needs a teacher chair for her desk.	. 9/7/2021 Medium	Pingitor, Larry	Custodial	B102
	delivered teachers chair	ourum		Juotoula	
15893	Closed Work Orders	9/1/2021	Charmaine	Nurse's Office	30 Saddle Way
	Ceiling tile in back screening room in health office has water stains - possible leak (?)	9/9/2021	Ramos Pingitor, Larry	_	202
	replaced tile old leak	Medium		General Maintenance	

10/7/2021 8:50:22 AM Page 2 of 16

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15894	Closed Work Orders	9/1/2021 9/9/2021	Charmaine Ramos	Nurse's Office	30 Saddle Way
	Can you please supply us with: tissues, copy paper and disinfectant spray supplied items as requested	Medium	Pingitor, Larry	Custodial	202
	supplied items as requested				
15895	Closed Work Orders	9/1/2021	Jamie Surrette	Classroom	30 Saddle Way
	 Please remove the round table in the back of the classroom. Please remove the carpet in the front of the room. Time Available: anytime removed table and rug from room 	9/9/2021 Medium	Pingitor, Larry	Custodial	326
			Manta a Hallana		00.0 - 1.11 - 14
15897	Closed Work Orders	9/1/2021	Marissa Holloway	Classroom	30 Saddle Way
	I need an extra desk and chair put in my room because I got a new student! Thank you!		Pingitor, Larry	Earline	B323
	brought desk and chair to room	Medium		Equipment Maintenance	
15900		9/1/2021	Julia Johnson	Classroom	30 Saddle Way
	Jen Hamer and I discussed this with someone and he suggested we school dude this: 1. We need 1 more student desk. 2. We need the extra teacher desk from 242 moved in (if possible). 3. We need the rug removed (if possible). 4. We need the tall filing cabinet removed (if possible). 5. We need the long computer table in the back broken down or removed (if possible). 6. We need Jen's bookshelves moved from 242 (they are labeled).	9/9/2021 Medium	Pingitor, Larry	General Maintenance	333
	Thank you!				
	moved all furniture as requested				
15901	Closed Work Orders	9/1/2021	Jennfer Ancelo	Classroom	30 Saddle Way
	Please remove the classroom table and rug.	9/9/2021	Pingitor, Larry		326
	We can not fit student desks within the guidelines. Thank you! Time Available: 10/12/2018	Medium		Custodial	
	removed rug and table				
15902	Closed Work Orders	9/1/2021	Victoria Wolochow	Classroom	30 Saddle Way
	Can you please place my two carpets on my main carpet in the faculty room. I have them labeled with my name and classroom number. At this time, I do not feel like they are best in my classroom. Thank you Time Available: ASAP	9/9/2021 Medium	Pingitor, Larry	Custodial	223

10/7/2021 8:50:22 AM Page 3 of 16

Work OrderID	Status Description Action Taken	-	Requester Assigned To	Area Type Building	Location Area Number
		Priority		Craft	Equipment
15903	Closed Work Orders	9/1/2021	Carla Rigolizzo	Classroom	30 Saddle Way
	lamin need of a recycling bin Time Available crigolizzo@chesterfieldschool.com supplied recycle bin	.9/9/2021 Medium	Pingitor, Larry	Custodial	222
	Supplied recycle uni				
15904	Closed Work Orders	9/1/2021	annemarie petty	Classroom	30 Saddle Way
	when you get a chance can you hang up the large blackboard in my new room. It can be placed as it was in my old room. Thanks!	9/9/2021 Medium	Pingitor, Larry	Custodial	B236
	installed black board				
15906	Closed Work Orders	9/1/2021	Lauran Gleason	Classroom	30 Saddle Way
	lam missing my large green rug in front of my	9/9/2021	Pingitor, Larry		B102
	cubbies. Thank you!	Medium		Custodial	
	found rug putin classroom				
15907	Closed Work Orders	9/1/2021	Vicki (kim) Weisgarber	Classroom	30 saddleway
	Please remove the desks and chair by the door inside the classroom. Please deliver an extra gray bookcase.	9/9/2021	(Kampe) Pingitor, Larry		b109
	Thank you!	Medium	i iligitoi, zary	General	
	moved desks and chairs from room. no extra bookshelves available			Maintenance	
15908	Closed Work Orders	9/2/2021 1:47:37	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	9/7/2021 Medium	Pingitor, Larry	Heating/Ventilatio	1111//44
	water room no issues found	Wediam		n /Air Conditioning	UH#11
15909	Closed Work Orders	9/2/2021 1:47:37	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 -	9/7/2021	Pingitor, Larry		
	Refer to PM schedule details. fire pump room no issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#12
15910	Closed Work Orders	9/2/2021	Kristi Boyle	Classroom	30 Saddle Way
	Please put two more desks in our class	9/2/2021	Pingitor, Larry		321
	because we had two more students added to our roster. Thank you! Time Available: ASAP	Medium	- · ·	General Maintenance	
	2 desks were delivered				
15913	Closed Work Orders	9/2/2021	Kristen McIntyre	Classroom	30 Saddle Way
	Please shift the teacher desk to the area next to black rolling cart (in front of wall shelves and bulletin board). One of the desk sides is loose. Time Available: all day	9/7/2021 Medium	Pingitor, Larry	Moving	237
	desk was moved				

10/7/2021 8:50:22 AM Page 4 of 16

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number	
	Action Taken	Priority		Craft	Equipment	
15914	Closed Work Orders	9/2/2021	Kristen McIntyre	Classroom	30 Saddle Way	
	Please straighten the shelf that is bent. The	9/2/2021	Pingitor, Larry		237	
	shelf is against the wall under the bulletin board . Time Available: all day	Medium		General		
	straitened shelf the best i could			Maintenance		
15915	Closed Work Orders	9/2/2021	Kristen McIntyre	Classroom	30 Saddle Way	
	May I please have another trash can (small if possible)? Time Available: all day	9/2/2021	Pingitor, Larry	Custodid	237	
	delivered trash can	Medium		Custodial		
15918	Closed Work Orders	9/2/2021	Julia Johnson	Classroom	30 Saddle Way	
	No rush - there is a stain above the	9/9/2021	Pingitor, Larry		333	
	Promethean board that looks like there might be a leak issue. Just wanted to let you know before it potentially got worse! Thank you!	Medium	g o . ; woll y	Ceiling Tile		
	replaced stained tile					
15920	Closed Work Orders	9/2/2021		Classroom	30 Saddle Way	
	Do you have one more circular table? I can fit	9/9/2021			302	
	one more in my room. :-) Time Available: ASAP	Medium				
15921	Closed Work Orders	9/2/2021	annemarie petty	Classroom	30 Saddle Way	
	when you have time can you hang four light	9/9/2021	Pingitor, Larry		B236	
	covers in the upstairs sensory room(301) that we talked about and I will let you know how many on tuesday for 217. Thanks!	Medium		General Maintenance		
	cover where installed on4 lights					
15923	Closed Work Orders	9/3/2021	Jen Maicher	Classroom	30 Saddle Way	
	The sensor for the classroom automatic lights	9/9/2021	Pingitor, Larry		A245	
	is defective. Very difficult to trigger the lights to turn on. Time Available: 9/7/21	Medium		Lighting		
	light senser was disconnected					
15926	Closed Work Orders	9/5/2021	Laura Flynn	Restroom (Staff)	30 Saddle Way	
	The so ap dispenser in the staff bathroom by	9/9/2021	Pingitor, Larry		hallway by gym	
	the gym is empty as of Thursday, 9/2. Please refill, thank you!	Medium		General Maintenance		
	replaced empty cartridge					
15927	Closed Work Orders	9/6/2021 2:29:35	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 2/16/2011 -	9/9/2021	Pingitor, Larry			
	Refer to PM schedule details. Playground 1 large rubber mat by big slide	Medium			PLAYGROUND#	

10/7/2021 8:50:22 AM Page 5 of 16

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15928	Closed Work Orders	9/6/2021 2:29:36	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	9/9/2021 Medium	Pingitor, Larry		Playground#2
	Playground 2 no issues found trash and recycle was picked up				r rayground#2
15929	Closed Work Orders	9/6/2021 2:29:37	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Generator
	Generator 309.5 twl 10 am 9/16/21	Wedian			Generalor
15930	Closed Work Orders	9/6/2021 2:29:37	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 9/10/2012 -	9/9/2021	Pingitor, Larry		•
	Refer to PM schedule details.	Medium		Landscaping	Courtyard
	Court yard grass was cut and trimmed				
15931	Closed Work Orders	9/7/2021	Melissa Hillman	Classroom	30 Saddle Way
	I have a writing table in my room that was taken apart over the summer. It needs to be	9/9/2021	Pingitor, Larry		220
	put back together before the students start tomorrow. Thanks!	Medium		Carpentry	
	re assembled writing table				
15932	Closed Work Orders	9/7/2021	Laura DiMeola	Media Center	30 Saddle Way
	Please move the furniture in the library back to	9/9/2021	Pingitor, Larry		203
	its classroom position. Five tables on each side with chairs for students. Thank you Time Available: 10/21/2016	Medium		General Maintenance	
	furniture was reset back to teaching				
15934	Closed Work Orders	9/7/2021	Gaby Lestino	Art Room	30 Saddle Way
	May I have a large tub of hand sanitizer for my	9/9/2021	Pingitor, Larry		A204
	room? delivered gallon of hand sanitizer to art room	Medium		Custodial	
15936	Closed Work Orders	9/7/2021	Sue Woodruff	Classroom	30 Saddle Way
	Can you take my rug out of my room. We had to vamp our tables and i can not have both	9/9/2021	Pingitor, Larry		221
	rugs any more. Time Available: any	Medium		Custodial	
	removed rug				

10/7/2021 8:50:22 AM Page 6 of 16

Work OrderID	Description	•	Requester Assigned To	Area Type Building	Location Area Number Equipment
				Craft	
15937	Closed Work Orders	9/7/2021	Julia Johnson	Classroom	30 Saddle Way
	l am moving rooms again! I talked to Stephen about this move already: 1. The L shaped desk needs to be moved into the back corner of her room (one side of the L against the wall). 2. 2 marked bookshelves (Johnson - move to 328).	Medium	Pingitor, Larry	Moving	333 to 328
	Thank you, and so sorry for any inconvenience!				
	moved furniture to new classroom				
5940	Closed Work Orders	9/7/2021	Jillian Biddle	Classroom	30 Saddle Way
	There is a large rectally ular table that heeds	9/9/2021	Pingitor, Larry		328
	to be removed from my room now because there isn't enough room for it anymore. It is currently up against the far wall.	Medium		Moving	
	table was removed				
15943	Closed Work Orders	9/7/2021	Leia Wisniewski	Classroom	30 Saddle Way
	I have some desks (3) that need to be lifted higher up. Thank you!	9/8/2021	Pingitor, Larry		B111
	adjusted desks	Medium		General Maintenance	
5949	Closed Work Orders	9/8/2021	Angela Manning	Computer Lab	30 saddleway
	Please lower the temp.	9/9/2021	Pingitor, Larry		209
	reset temp.	Medium		Heating/Ventilatio n /Air Conditioning	
15951	Closed Work Orders	9/8/2021	Tracey Miller	Classroom	30 Saddle Way
	If possible could I please have 1 more desk.	9/8/2021	Pingitor, Larry		320
	delivered desk	Medium		Custodial	
15952	Closed Work Orders	9/8/2021	Laura Flynn	Classroom	30 Saddle Way
	Will you please remove the round table? Thank you!	9/9/2021	Pingitor, Larry	Equipment	306
	removed table	Medium		Equipment Mainten <i>a</i> nce	
15953	Closed Work Orders	9/8/2021	Julia Johnson	Classroom	30 Saddle Way
	There is a ceiling tile leaking in the middle back of the room. It is leaking a bit onto student desks, there is a stain where you can see it.	9/17/2021 Medium	Pingitor, Larry	Ceiling Tile	328
	condensation from air conditioning adjusted temp.				

10/7/2021 8:50:22 AM Page 7 of 16

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15955	Closed Work Orders	9/8/2021	Lisa Moore	Classroom	30 Saddle Way
	We have a divider in the room in front of the	9/9/2021	Pingitor, Larry		314
	white boards that needs to be removed before Monday, Sept. 13. Time Available: anytime	Medium		Moving	
	removed divider from room				
15957	Closed Work Orders	9/9/2021 12:53:54	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 -	9/9/2021	Pingitor, Larry		
	Refer to PM schedule details.	Medium		Heating/Ventilatio	UH#11
	water room no issues found			n /Air Conditioning	
15958	Closed Work Orders	9/9/2021 12:53:54	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 -	9/9/2021	Pingitor, Larry		
	Refer to PM schedule details.	Medium		Heating/Ventilatio	UH#12
	fire pump room no issues found			n /Air Conditioning	
15962	Closed Work Orders	9/9/2021	karen stryker	Classroom	30 Saddle Way
	lamin need of 1 more desk. Thank you!	9/9/2021	Pingitor, Larry		305
		Medium		Custodial	
	delivered desk				
15963	Closed Work Orders	9/9/2021	annemarie petty	Classroom	30 Saddle Way
	can you please lower the white/gray kidney	9/10/2021	Pingitor, Larry		B236
	shaped table in Mrs. Moore's room B 314- by one notch. Thank you!	Medium		General Maintenance	
	lowered table			Maintenance	
15964	Closed Work Orders	9/10/2021	Lash ay Johnson	Classroom	30 Saddle Way
	Request for a 2 drawer filing cabinet and 2-3	9/15/2021	Pingitor, Larry		102
	shelf bookshelf Time Available: anytime	Medium		General	
	have to be ordered			Maintenance	
15965	Closed Work Orders	9/10/2021	Lashay Johnson	Classroom	30 Saddle Way
	Remove the keyboard part from the desk	9/13/2021	Pingitor, Larry		102
	(under the brown desk there is a place to put a keyboardif possible, I would like removed).	^l Medium		Carpentry	
	Thank you. Time Available: anytime removed keyboard shelf from under desk				
	Tomo Tou Reybould Short Home didn				
15966	Closed Work Orders	9/10/2021	Julia Johnson	Classroom	30 Saddle Way
	We have a few things that we need removed from the room:	9/18/2021	Pingitor, Larry		328
	1. Please bring the red bins to the science lab	Medium		Equipment Mainten <i>a</i> nce	
	(3 bins). 2. Please remove the chairs in the back (3				
	chairs, in front of the book shelves).				
	removed items as requested				

10/7/2021 8:50:22 AM Page 8 of 16

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15969	Closed Work Orders	9/10/2021	Laura Flynn	Classroom	30 Saddle Way
	I'd like to request that my student's desk be	9/18/2021	Pingitor, Larry		306
	fixed. It's wobbling because the legs are uneven. His desk is the first one when you walk in, on the locker side of classroom, with a "Jake" name tag on it. Thank you! adjusted desks	Medium a		Equipment Maintenance	
5970	Closed Work Orders	9/12/2021	Tanya Bloom	Classroom	30 Saddle Way
	Many of the desks and chairs are too big for my Kindergarten students. Off the top of my head, I think I need to swap 5 chairs, 2 desks, and the blue table may need to be lowered. Annemarie Petty was going to check the heights with the students Monday moming. Thank you. Time Available: 9:00 am	9/15/2021 Medium	Pingitor, Larry	General Maintenance	230
	adjusted table and desks. switched and out chairs				
15971	Closed Work Orders	9/13/2021 1:20:15	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		PLAYGROUND#
	playground 1 trash and litter was cleaned up no issues found	Westall			PLATGROUND#
15972	Closed Work Orders	9/13/2021 1:20:15	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Playground#2
	playground 2 trash and litter was removed no issues found				r rayground#2
15973	Closed Work Orders	9/13/2021 1:20:16	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/11/2012 -	9/29/2021	Pingitor, Larry		
	Refer to PM schedule details. steamer is running ok	Medium		Equipment Maintenance	Steamer #1
				.7.6.11.0.100	
15974	Closed Work Orders	9/13/2021 1:20:17	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details.	9/28/2021 Medium	Pingitor, Larry		Generator
	generator no test needed at his time				
15975	Closed Work Orders	9/13/2021 1:20:18	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.	9/15/2021 Medium	Pingitor, Larry	Landscaping	Courtyard
	courtyard grass was cut and trimmed	ourum		Larassaping	Courtyard
15978	Closed Work Orders	9/13/2021	Kristen McIntyre	Staff Lounge	30 Saddle Way
	The 2nd floor copy room is out of paper. Thx	9/15/2021	Pingitor, Larry	(Elementary)	copy room
	delivered paper	Medium	-	Copier	

10/7/2021 8:50:22 AM Page 9 of 16

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
15980	Closed Work Orders	9/13/2021	Jennifer Hamer	Classroom	30 Saddle Way
13300	can I have a door stopper please and i am all	9/15/2021	Pingitor, Larry	Olassiooni	333
	out of soap Time Available: Any	Medium	Filigitor, Larry	General	333
	supplied door stopper			Maintenance	
15983	Closed Work Orders	9/13/2021	Gwendolyn	Music Room	30 Saddle Way
	We need the 4th grade text books moved from	₁ 9/15/2021	McCreary		a260
	Mrs. O'Brien's classroom to Mrs, McCreaery's classroom.		Carter, Robert	Moving	
	moved books	Medium		Wowing	
15985	Closed Work Orders	9/13/2021	Valerie Lydon	Classroom	30 Saddle Way
10800		9/13/2021	•	Ciassiudili	•
	l'd like 2 more student chairs please Time Available: asap	Medium	Pingitor, Larry	Custodial	302
	chairs delivered	Wediam		Custodia	
15987	Closed Work Orders	9/14/2021	Gayle	Classroom	30 Saddle Way
	I need 4 or 8 (whichever is available) D	9/14/2021	Poedubicky		B331
	batteries for my social studies lesson. Thanks!		Pingitor, Larry	Heating/Ventilatio	
	supplied battery's	Medium		n /Air Conditioning	
15989	Closed Work Orders	9/14/2021	robert cochrane	Classroom	30 Saddle Way
	Two hooks are broken on the white board by	9/15/2021	Pingitor, Larry		B313
	the promethean board. They're the ones that are used to hold up the big chart paper. Thanks	Medium		General Maintenance	
	replaced broken hook				
15990	Closed Work Orders	9/14/2021	Charmaine	Nurse's Office	30 Saddle Way
	door bells/intercom not working for the health	9/15/2021	Ramos		202
	office and the screening room	Madium	Harris, Rene	Equipment	
	door bells needed to be charged	Medium		Maintenance	
15991	Closed Work Orders	9/14/2021	Marissa Holloway	Classroom	30 Saddle Way
	My manual pencil sharpener (NOT THE	9/14/2021	Pingitor, Larry		B323
	ELECTRIC ONE) that is attached to the shelf in the back of my room is broken. Can you please try to fix this sharpener? If this one is unable to be fixed, can you install the new one that is next to it? Thanks in advance!	Medium	-	Equipment Mainten <i>a</i> nce	
	had to replace sharpener				
15992	Closed Work Orders	9/14/2021	Gwendolyn	Music Room	30 Saddle Way
	There are items stuck behind the band library	9/15/2021	McCreary		a260
	shelves inside my closet making it impossible to open & close the band library properly & completely.	Medium	Pingitor, Larry	General Mainten <i>a</i> nce	
	removed items behind cabinet				

10/7/2021 8:50:22 AM Page 10 of 16

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number	
	Action Taken	Priority		Craft	Equipment	
15993	Closed Work Orders	9/14/2021	Lauren Rahey	Classroom	30 Saddle Way	
	I'm in need of one desk or very small table for my Responsive Classroom calming comer. Thank you!	9/15/2021 Medium	Pingitor, Larry	Custodial	B227	
	delivered student desk					
15994	Closed Work Orders	9/15/2021	Frances Sielski	Classroom	30 Saddle Way	
	wobbly desk, legs need to be adjusted Time Available: asap	9/17/2021 Medium	Pingitor, Larry	Equipment	B246	
	adjusted desks	Wediani		Maintenance		
15995	Closed Work Orders	9/15/2021	Charmaine Ramos	Nurse's Office	30 Saddle Way	
	please sanitize screening room	9/15/2021	Pingitor, Larry		202	
	sanitized room	Medium		Custodial		
15997	Closed Work Orders	9/15/2021	Sharon angelucci	Classroom	30 Saddle Way	
	sink keeps dripping.	9/17/2021	Pingitor, Larry		322	
	adjusted handles	Medium		Plumbing		
15998	Closed Work Orders	9/15/2021	Sharon angelucci	Classroom	30 Saddle Way	
	Student desks are wobbly please fix them.	9/17/2021	Pingitor, Larry		322	
	Thank you adjusted desks	Medium		Equipment Maintenance		
15999	Closed Work Orders	9/16/2021	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	9/17/2021	Pingitor, Larry			
	water room no issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#11	
16000	Closed Work Orders	9/16/2021	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012- Refer to PM schedule details.	9/23/2021 Medium	Pingitor, Larry	Heating/Ventilatio	UH#12	
	fire pump room no issues found			n /Air Conditioning	U⊓#1Z	
16002	Closed Work Orders	9/16/2021	Tracey Miller	Classroom	30 Saddle Way	
	I think that my room is very warm	9/22/2021	Pingitor, Larry		320	
	contractor serviced unit	Medium		General Mainten <i>a</i> nce		
16007	Closed Work Orders	9/16/2021	Kristen McIntyre	Classroom	30 Saddle Way	
	May I please have a key to get into my room	9/16/2021	Pingitor, Larry		237	
	in the mornings? Time Available: any time supplied room key room 237	Medium		Doors and Hardware		

10/7/2021 8:50:22 AM Page 11 of 16

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number	
	Action Taken	Priority	Craft		Equipment	
16008	Closed Work Orders	9/16/2021	Liz Schauer	Classroom	30 Saddle Way	
	Can you please remove the soap container from inside the dispenser in my classroom bathroom? We have different soap to use and would rather that dispenser be empty. Thank	9/17/2021 Medium	Pingitor, Larry	General Mainten <i>a</i> nce	229	
	you removed dispenser					
16009	Closed Work Orders	9/16/2021	Amber Colville	Classroom	30 Saddle Way	
	Hello, out paper towel dispenser is not working. We push the leaver and nothing comes out. Can you help please?	9/17/2021 Medium	Pingitor, Larry	Custodial	314	
	replaced broken dispenser					
16011	Closed Work Orders	9/17/2021	Dan Cardona	Board/Conference Room	30 Saddle Way	
	rest room to ilet dripping	9/17/2021	Pingitor, Larry	Hoom		
	replaced toilet valve	Medium		Plumbing		
16013	Closed Work Orders	9/17/2021	Maria Prince	Classroom	30 Saddle Way	
	I have several wobbly student desks. They are all marked with a bright orange posttaped to the upper right corner of the desk. Thank you Time Available: Nov 2 2020	9/18/2021 Medium	Pingitor, Larry	Custodial	315	
	adjusted desks					
16014	Closed Work Orders	9/17/2021	Marissa Holloway	Classroom	30 Saddle Way	
	I need new soap in my soap dispenser in my classroom! Thanks! Time Available: B323	9/17/2021 Medium	Cardona, Dan	General	B323	
	dispenserfilled	Wedtum		Maintenance		
16015	Closed Work Orders	9/17/2021	Leia Wisniewski	Classroom	30 Saddle Way	
	3 desks and chairs needed Time Available:	9/18/2021	Pingitor, Larry	Canaval	B111	
	delivered 3 desks and chairs	Medium		General Maintenance		
16016	Closed Work Orders	9/18/2021	Joan mueller	Classroom	30 Saddle Way	
	I need 2 student desks please.	9/18/2021	Pingitor, Larry	Hanka - Ata - 20 - 2	247	
	delivered 2 desks and adjusted to proper Hight	Medium		Heating/Ventilation/Air Conditioning		
16017	Closed Work Orders	9/20/2021 1:29:14	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	9/23/2021 Medium	Pingitor, Larry		PLAYGROUND#	
	playground 1 no issues at this time trash and litter was picked up					

10/7/2021 8:50:22 AM Page 12 of 16

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
16018	Closed Work Orders Weekly - PM Schedule created on 2/16/2011 -	9/20/2021 1:29:15 9/23/2021	Robert Carter Pingitor, Larry	Oran	30 Saddle Way
	Refer to PM schedule details. playground 2 no issues found trash and litter was picked up	Medium			Playground#2
16019	Closed Work Orders	9/20/2021 1:29:16	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details.	9/29/2021 Medium	Pingitor, Larry		Generator
	no test needed at this time				
16020	Closed Work Orders Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.	9/20/2021 1:29:17 9/20/2021	Robert Carter Pingitor, Larry		30 Saddle Way
	courtyard grass was cut and trimmed	Medium		Landscaping	Courtyard
16022	Closed Work Orders	9/20/2021	Melissa Hillman	Classroom	30 Saddle Way
	My floors were not cleaned Friday night. There is food still on the floor and sand from the sandbox.	9/22/2021 Medium	Carter, Robert	Custodial	220
	cleaned area had a sub. that night				
16023	Closed Work Orders I need a recycling & trash pick up as soon as	9/20/2021 9/22/2021	Gwendolyn McCreary	Music Room	30 Saddle Way
	possible. trash and recycle was picked up	Medium	Carter, Robert	Custodial	a200
16025	Closed Work Orders	9/20/2021	Sharon angelucci	Classroom	30 Saddle Way
	It is very warm in my room during the day. Car you please check fix that	9/22/2021 Medium	Pingitor, Larry	Heating/Ventilatio	322
	adjusted temperature			n /Air Conditioning	
16026	Closed Work Orders	9/21/2021	annemarie petty	Classroom	30 Saddle Way
	Table and desk adjustments: in mrs. millers room B320:	9/22/2021 Medium	Pingitor, Larry	General	B236
	Mrs Miller placed sticky notes on the front of the desks needing adjusting. Skylar- lower desk 2 notches Madison- lower desk 3 notches and need lower chair Liam- lower desk 3 notches and need smaller chair Shaun-? need to check with her adjusted student desks			Maintenance	

10/7/2021 8:50:22 AM Page 13 of 16

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
16028	Closed Work Orders	9/21/2021	Shannon	Classroom	30 Saddle Way
10025	Ants near one of the back desks (near the printer) and near the window	9/22/2021	McGettigan Pingitor, Larry	Ciacologiii	B224
	put down bait	Medium		Pest Control	
16029	Closed Work Orders	9/21/2021	Marissa Holloway	Classroom	30 Saddle Way
	Achair broke while a student was sitting in it. The chair is against the wall near the lockers. If possible, could you please fix and return to my room? If not, can I please have a new chair? Thanks! chair was replaced	9/22/2021 Medium	Pingitor, Larry	Equipment Mainten <i>a</i> nce	B323
16032	Closed Work Orders	9/21/2021	Shannon	Classroom	30 Saddle Way
	Please remove all extra chairs. They are stacked near the door. Thanks.	9/22/2021	McGettigan Pingitor, Larry		B224
	removed chairs	Medium		Moving	
16033	Closed Work Orders	9/22/2021	Liz Schauer	Classroom	30 Saddle Way
	Can I please have 1 student desk? No one will be sitting at it, so the height won't matter. Thank you	9/22/2021 Medium	Pingitor, Larry	General	229
	delivered desk			Maintenance	
16034	Closed Work Orders	9/22/2021	Charmaine	Nurse's Office	30 Saddle Way
	please sanitize screening room	9/22/2021	Ramos Pingitor, Larry		202
	screening room sanitized	Medium		Custodial	
16036	Closed Work Orders	9/23/2021	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012- Refer to PM schedule details.	9/23/2021	Pingitor, Larry	Haada - Afr. W. s	
	water room no issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#11
16037	Closed Work Orders	9/23/2021	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012- Refer to PM schedule details.	9/23/2021	Pingitor, Larry	Heating Mantilatic	
	fire pump room no issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#12
16040	Closed Work Orders	9/23/2021	Valerie Lydon	Classroom	30 Saddle Way
	Please remove 2 round table and bring 7 chairs to room 302. Thank you!!!! Time Available: 302	9/23/2021 Medium	Pingitor, Larry	General	302
	moved furniture			Maintenance	

10/7/2021 8:50:22 AM Page 14 of 16

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment	
16041	Closed Work Orders	9/23/2021	Joan mueller	Classroom	30 Saddle Way	
	Boys bathroomnear cafeteria needs soap please	9/23/2021	Pingitor, Larry		247	
	filled soap	Emergency		Equipment Mainten <i>a</i> nce		
16043	Closed Work Orders	9/24/2021	Charmaine	Nurse's Office	30 Saddle Way	
	PLEASE SANITIZE SCREENING ROOM	9/24/2021	Pingitor, Larry	Ramos Pingitor, Larry		
	room was sanitized	Medium		Custodial		
16044	Closed Work Orders	9/24/2021	Charmaine Ramos	Nurse's Office	30 Saddle Way	
	PLEASE BRING WATER BOTTLES TO THE SCREENING ROOM THANK YOU!	9/24/2021	Pingitor, Larry	Custodial	202	
	delivered a case of water as requested	Medium		Oustodia		
16046	Closed Work Orders	9/24/2021	robert cochrane	Classroom	30 Saddle Way	
	Could I have a student spinning chair (the hard beige one) for the classroom? Using it for a student reward next week. Thanks!	9/27/2021 ^r Medium	Pingitor, Larry	General	B313	
	delivered chair to classroom			Maintenance		
16047	Closed Work Orders	9/27/2021 1:43:44	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	9/28/2021 Medium	Pingitor, Larry		PLAYGROUND#1	
	playground 1 no issues. trash and litter was cleaned up				TEATOND#1	
16048	Closed Work Orders	9/27/2021 1:43:44	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	9/28/2021 Medium	Pingitor, Larry		Dloverso and #0	
	playground 2 no issues found trash was cut and trimmed	Mediani			Playground#2	
16049	Closed Work Orders	9/27/2021 1:43:45	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.	9/28/2021 Medium	Pingitor, Larry	Equipment	Steamer #1	
	no issues at this time			Maintenance	Steamer #1	
16051	Closed Work Orders	9/27/2021 1:43:46	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.	9/28/2021 Medium	Pingitor, Larry	Landscaping	Countries	
	court yard grass was cut and trimmed	WOUTH		Landsdaping	Courtyard	
16058	Closed Work Orders	9/28/2021	Sarah Tiedemann	Classroom	30 Saddle Way	
	need 53rd . grade chairs and remove smaller ones	9/28/2021 Medium	Pingitor, Larry	Moving	242	
	delivered furniture					

10/7/2021 8:50:22 AM Page 15 of 16

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number	
	Action Taken	Priority		Craft	Equipment	
16060	Closed Work Orders	9/29/2021	Julia Johnson	Classroom	30 Saddle Way	
	We have a new desk in our room for a student that got moved, and its height is low. Would it be possible to have it lifted to a higher height? Thank you!	Modium	Pingitor, Larry	General Maintenance	328	
	adjusted desk and fixed wobbly ones					
16061	Closed Work Orders	9/30/2021 2:53:33	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012 -	9/30/2021	Pingitor, Larry			
	Refer to PM schedule details. water room no issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#11	
16062	Closed Work Orders	9/30/2021 2:53:34	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	9/30/2021 Medium	Pingitor, Larry	Heating Montilatio		
	fire pump room no issues at this time	Wedium		Heating ∕Ventilatio UH#12 n /Air Conditioning		
16063	Closed Work Orders	9/30/2021	Charmaine	Nurse's Office	30 Saddle Way	
	PLEASE THOROUGHLY CLEAN/DISINFECT/SANITIZE MRS. HILLMAN'S CLASSROOM.	9/30/2021 Medium	Ramos Shafer, David	Custodial	202	
	Roomwas disinfected	Wedium				
16064	Closed Work Orders	9/30/2021	Charmaine Ramos	Nurse's Office	30 Saddle Way	
	PLEASE THOROUGHLY CLEAN/DISINFECT/SANITIZE MRS.	9/30/2021	Pingitor, Larry		202	
	MAICHER'S CLASSROOM. Room was sanitized and disinfected	Medium		Custodial		

10/7/2021 8:50:23 AM Page 16 of 16

February, 2011 March, 2011 April, 2011 May, 2011 June, 2011 July, 2011 August, 2011 September, 2011 October, 2011 November, 2011 December, 2011 January, 2012	2770 8330 12790 18580 27880 36008 42832 44594 49840 52780 55662 58390 62012 67228	Generation (kWh) 2770 5560 4460 5790 9300 8128 6824 1762 5246 2940 2882 2728 3622 5216	25110 33238 40062 41824 47070 50010 52892 55620	5 6 7 7 8 6 1 5 3	25 33 39 40 45	5 6 7 7 8 6	\$620 \$620 \$620 \$100 \$100 \$100	\$3,100.00 \$3,720.00 \$4,340.00 \$700.00 \$800.00 \$600.00	9/8/11 9/8/11 9/8/11 6/1/12 6/1/12	
March, 2011 April, 2011 May, 2011 June, 2011 July, 2011 August, 2011 September, 2011 October, 2011 November, 2011 December, 2011	12790 18580 27880 36008 42832 44594 49840 52780 55662 58390 62012 67228	4460 5790 9300 8128 6824 1762 5246 2940 2882 2728 3622	33238 40062 41824 47070 50010 52892	6 7 7 8 6 1 5	33 39 40	6 7 7 8 6	\$620 \$620 \$100 \$100	\$3,720.00 \$4,340.00 \$700.00 \$800.00	9/8/11 9/8/11 6/1/12	
May, 2011 June, 2011 July, 2011 August, 2011 September, 2011 October, 2011 November, 2011 December, 2011	18580 27880 36008 42832 44594 49840 52780 55662 58390 62012 67228	5790 9300 8128 6824 1762 5246 2940 2882 2728 3622	33238 40062 41824 47070 50010 52892	7 7 8 6 1 5	33 39 40	7 7 8 6	\$620 \$100 \$100	\$4,340.00 \$700.00 \$800.00	9/8/11 6/1/12	
June, 2011 July, 2011 August, 2011 September, 2011 October, 2011 November, 2011 December, 2011	27880 36008 42832 44594 49840 52780 55662 58390 62012 67228	9300 8128 6824 1762 5246 2940 2882 2728 3622	33238 40062 41824 47070 50010 52892	7 8 6 1 5	33 39 40	7 8 6	\$100 \$100	\$700.00 \$800.00	9/8/11 6/1/12	
June, 2011 July, 2011 August, 2011 September, 2011 October, 2011 November, 2011 December, 2011	36008 42832 44594 49840 52780 55662 58390 62012 67228	8128 6824 1762 5246 2940 2882 2728 3622	33238 40062 41824 47070 50010 52892	8 6 1 5	33 39 40	8 6	\$100	\$800.00		
July, 2011 August, 2011 September, 2011 October, 2011 November, 2011 December, 2011	36008 42832 44594 49840 52780 55662 58390 62012 67228	6824 1762 5246 2940 2882 2728 3622	33238 40062 41824 47070 50010 52892	6 1 5 3	33 39 40	6		\$800.00		
August, 2011 September, 2011 October, 2011 November, 2011 December, 2011	42832 44594 49840 52780 55662 58390 62012 67228	6824 1762 5246 2940 2882 2728 3622	40062 41824 47070 50010 52892	6 1 5 3	39 40	6		· ·	-, ,	1
September, 2011 October, 2011 November, 2011 December, 2011	49840 52780 55662 58390 62012 67228	5246 2940 2882 2728 3622	41824 47070 50010 52892	5 3			<u>'</u>		6/1/12	
October, 2011 November, 2011 December, 2011	49840 52780 55662 58390 62012 67228	5246 2940 2882 2728 3622	47070 50010 52892	5 3			\$100	\$100.00	6/1/12	
November, 2011 December, 2011	52780 55662 58390 62012 67228	2940 2882 2728 3622	50010 52892	3		5	\$100	\$500.00	6/1/12	
December, 2011	55662 58390 62012 67228	2728 3622	52892	3	48	3	\$100	\$300.00	6/1/12	
· ·	58390 62012 67228	3622			51	3	\$100	\$300.00	6/1/12	
	62012 67228	3622		3	54	3	\$100	\$300.00	6/1/12	
February, 2012	67228		59242	3	57	3	\$100	\$300.00	6/1/12	
March, 2012			64458	5	62	5	\$100	\$500.00	6/1/12	
March, 2012				2	64	2	\$122.50	\$245.00	5/28/13	
April, 2012	73557	6329	70787	6	70	6	\$122.50	\$735.00	5/28/13	
May, 2012	80249	6692	77479	7	77	7	\$122.50	\$857.50	5/28/13	
June, 2012	86301	6052	83531	6	83	6	\$135.50	\$813.00	5/28/13	
July, 2012	92564	6263	89794	6	89	6	\$135.50	\$813.00	5/28/13	
August, 2012	98918	6354	96148	7	96	7	\$135.50	\$948.50	5/28/13	
September, 2012	103665	4747	100895	4	100	4	\$135.50	\$542.00	5/28/13	
October, 2012	106951	3286	104181	4	104	4	\$135.50	\$542.00	5/28/13	
November, 2012	109775	2824	107005	3	107	3	\$135.50	\$406.50	5/28/13	
December, 2012	111679	1904	108909	1	108	1	\$135.50	\$135.50	5/28/13	
January, 2013	114506	2827	111736	3	111	3	\$135.50	\$406.50	5/28/13	
February, 2013	117268	2762	114498	3	114	3	\$135.50	\$406.50	12/4/13	
March, 2013	120850	3582	118080	4	118	4	\$135.50	\$542.00	12/4/13	
April, 2013	127875	7025	125105	7	125	7	\$135.50	\$948.50	12/4/13	
May, 2013	134826	6951	132056	7	132	7	\$135.50	\$948.50	12/4/13	
June, 2013	141813	6987	139043	7	139	7	\$140.00	\$980.00	12/4/13	
July, 2013	146518	4705	143748	4	143	4	\$140.00	\$560.00	12/4/13	
August, 2013	152478	5960	149708	6	149	6	\$140.00	\$840.00	12/4/13	
September, 2013	158850	6372	156080	7	156	7	\$140.00	\$980.00	12/4/13	
October, 2013	161905	3055	159135	3	159	3	\$140.00	\$420.00	12/4/13	
November, 2013	165060	3155	162290	3	162	3	\$175.00	\$525.00	6/16/14	
December, 2013	166379	1319	163609	1	163	1	\$175.00	\$175.00	6/16/14	
January, 2014	168122	1743	165352	2	165	2	\$175.00	\$350.00	6/16/14	
February, 2014	169528	1406	166758	1	166	1	\$175.00	\$175.00	6/16/14	
March, 2014	173999	4471	171229	5	171	5	\$175.00	\$875.00	6/16/14	
April, 2014	179855	5856	177085	6	177	6	\$175.00	\$1,050.00	6/16/14	
May, 2014	186024	6169	183254	6	183	6	\$196.00	\$1,176.00	12/7/14	
June, 2014	193796	7772	191026	8	191	8	\$197.00	\$1,576.00	12/7/14	
July, 2014	200195	6399	197425	6	197	6	\$197.00	\$1,182.00	12/7/14	
August, 2014	205793	5598	203023	6	203	6	\$197.00	\$1,182.00	12/7/14	
September, 2014	210414	4621	207644	4	207	4	\$197.00	\$788.00	12/7/14	
October, 2014	214312	3898	211542	4	211	4	\$197.00	\$788.00	12/7/14	
November, 2014	216878	2566	214108	3	214	3	\$228.50	\$685.50	6/17/15	
December, 2014	218810	1932	216040	2	216	2	\$228.50	\$457.00	6/17/15	
January, 2015	220903	2093	218133	2	218	2	\$228.50	\$457.00	6/17/15	
February, 2015	223106	2203	220336	2	220	2	\$228.50	\$457.00	6/17/15	
March, 2015	226883	3777	224113	4	224	4	\$228.50	\$914.00	6/17/15	
April, 2015	232854	5971	230084	6	230	6	\$228.50	\$1,371.00	6/17/15	
May, 2015	239646	6792	236876	6	236	6	\$258.00	\$1,548.00	12/1/15	
June, 2015	245524	5878	242754	6	242	6	\$258.00	\$1,548.00	12/1/15	
July, 2015	252536	7012	249766	7	249	7	\$258.00	\$1,806.00	12/1/15	
August, 2015 P.\Amy\2019-2021\Agen	259153	6617	256383	7	256	7	\$258.00	\$1,806.00	12/1/15	

September, 2015 263908 4755 261138 5 261 5 \$258.00 \$1,290. October, 2015 268273 4365 265503 4 265 4 \$258.00 \$1,032. November, 2015 271026 2753 268256 3 268 3 \$193.00 \$579.0 December, 2015 273242 2216 270472 2 270 2 \$193.00 \$386.0		
November, 2015 271026 2753 268256 3 268 3 \$193.00 \$579.0 December, 2015 273242 2216 270472 2 270 2 \$193.00 \$386.0	10 I 12/1/15	1
December, 2015 273242 2216 270472 2 270 2 \$193.00 \$386.0		_
		_
January, 2016 275363 2121 272593 2 272 2 \$193.00 \$386.0		
February, 2016 277983 2620 275213 3 275 3 \$193.00 \$579.0		
March, 2016 283738 5755 280968 5 280 5 \$193.00 \$965.0		
April, 2016 289130 5392 286360 6 286 6 \$193.00 \$1,158.		
May, 2016 294478 5348 291708 5 291 5 \$193.00 \$965.0		
June, 2016 302274 7796 299504 8 299 8 \$195.00 \$1,560.		
July, 2016 308004 5730 305234 6 305 6 \$195.00 \$1,170.		
August, 2016 314445 6441 311675 6 311 6 \$195.00 \$1,170.		
September, 2016 319354 4909 316584 5 316 5 \$195.00 \$975.0		_
October, 2016 323364 4010 320594 4 320 4 \$195.00 \$780.0		
November, 2016 326569 3205 323799 3 323 3 \$195.00 \$585.0		
December, 2016 328851 2282 326081 3 326 3 \$195.00 \$585.0		
January, 2017 330377 1526 327607 1 327 1 \$195.00 \$195.0	0 8/15/17	
February, 2017 333530 3153 330760 3 330 3 \$195.00 \$585.0		<u> </u>
March, 2017 337510 3980 334740 4 334 4 \$195.00 \$780.0		
April, 2017 342349 4839 339579 5 339 5 \$195.00 \$975.0		1
May, 2017 348015 5666 345245 6 345 6 \$195.00 \$1,170.		
June, 2017 354910 6895 352140 7 352 7 \$225.50 \$1,578.		
July, 2017 360693 5783 357923 5 357 5 \$225.50 \$1,127.		
August, 2017 367274 6581 364504 7 364 7 \$225.50 \$1,578.	1	
September, 2017 371617 4343 368847 4 368 4 \$225.50 \$902.0		
October, 2017 375258 3641 372488 4 372 4 \$225.50 \$902.0		
November, 2017 378337 3079 375567 3 375 3 \$225.50 \$676.5		
December, 2017 380253 1916 377483 2 377 2 \$225.50 \$451.0		<u> </u>
January, 2018 382604 2351 379834 2 379 2 \$225.50 \$451.0		<u> </u>
February, 2018 385186 2582 382416 3 382 3 \$225.50 \$676.5		
March, 2018 389701 4515 386931 4 386 4 \$225.50 \$902.0		-
April, 2018 393945 4244 391175 5 391 5 \$225.50 \$1,127.	60 6/21/18	
May, 2018 399873 5928 397103 6 397		6
June, 2018 406148 6275 403378 6 403 July, 2018 412093 5945 409323 6 409		6
		6
August, 2018 418417 6324 415647 6 415 September, 2018 421469 3052 418699 3 418		6 3
October, 2018 425118 3649 422348 4 422		4
November, 2018 427655 2537 424885 2 424		2
December, 2018 429732 2077 426962 2 426		2
January, 2019 432133 2401 429363 3 429		3
February, 2019 435366 3233 432596 3 432		3
March, 2019 440432 5066 437662 5 437		5
April, 2019 445995 5563 443225 6 443		6
May, 2019 452163 6168 449393 6 449		6
June, 2019 458474 6311 455704 6 455		6
July, 2019 467987 9513 465217 10 465		10
August, 2019 471540 3553 468770 3 468		3
September, 2019 476427 4887 473657 5 473		5
October, 2019 479948 3521 477178 4 477		4
November, 2019 483146 3198 480376 3 480		3
December, 2019 485137 1991 482367 2 482		2
January, 2020 487839 2702 485069 3 485		3
February, 2020 491107 3268 488337 3 488		3
March, 2020 498915 7808 496145 8 496		8
April, 2020 500565 1650 497795 1 497		1
May, 2020 507164 6599 504394 7 504		7
June, 2020 515283 8119 512513 8 512		8
July, 2020 521172 5889 518402 6 518		6

E+mon D-mon Meter Readings

August, 2020	526269	5097	523499	5	523			5
September, 2020	531947	5678	529177	6	529			6
October, 2020	534481	2534	531711	2	531			2
November, 2020	537385	2904	534615	3	534			3
December, 2020	539345	1960	536575	2	536			2
January, 2021	542002	2657	539232	3	539			3
February, 2021	543046	1044	540276	1	540			1
March, 2021	550978	7932	548208	8	548			8
April, 2021	554599	3621	551829	3	551			3
May, 2021	560373	5774	557603	6	557			6
June, 2021	567010	6637	564240	7	559			7
July, 2021	574896	7886	572126	8	561			8
August, 2021	578363	3467	575593	3	557			3
September, 2021	583990	5627	581220		550			
Totals						391	\$77,764.50	184

^{**8/3/12:} updated April and June with figures from CEPS website from 24 to 21 SREC's